Year 11 Mathematics Learning Journey: Unit 1 - Algebra 1

Step 7: Function machines

Step 8: Solving
’ linear equations Work out the input when the
output is 11.
‘ Solve 3x +7 = 1
mput ———p x 3 Ap{ -4 {———» output

Step 6: Substitution into
formulae

The formula C = 1.25x + 8 can
be used to work out the cost,
£C, of a taxi journey of x miles
with three different taxi
companies.

Step 4: Factorising linear
expressions

Step 5: Substitution

If n =12 find the
value of 3n + 2

Factorise 10x - 15

Step 1: Algebraic
Step 2: Collecting like Notation

U Write an expression to
Simplify 3f + 4 — 2f + 6 represent: “add 1 to c

then multiply by 2”
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Step 3: Expanding
single brackets

Expand 5(2m — 3)
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